Efficiency vs Dxy(PV)

0.8

efficiency vs dxy(PV)

Ratio

10 15 20 25
TP dxy(PV) (cm)

5 =20-15-

—"— DQM_TT_time_newbranch

I Efficienc] — DQM_TT_newbranch_time_pLess

0.5

efficiency vs dxy(PV)

0.4/

0.3

0.2

.-

0.

P

TR

T

1.

Ratio

W14 et
’ } ‘ ] ‘ ‘ ‘ ‘ ‘
055 IR R!

-1-0.8-0.6-0.4-0.2 0 0.2 04 0.6 0.8 1
TP dxy(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

0.2]

0.1 - ’ -1
I I I

0.95 | ! ! | |

=30 -20 -10 0 10 20 3
TP dz(PV) (cm)

Ratio

Efficiency vs Dz(PV)

S 1. -
a :
< .
5 :
[ .
> .
> .
Q .
RO: S ERTEY B | SEPEEPPE SRR PR N
S :
5 : »
0.6[1- o8 Y IO |
0.4ff1 HH\
: f
0.2} i
o 0k ! i
§ 5 :
it
0= 05 0

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


